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g ake RED/U 40dB (EFIDE) x1 FRED/U 40dB (EFIDE) x1
%1 EFIA-E}, SOARI/LBEREOEERABOTT IV, #HMIITERHSE.,
TS EITHR 4 = 4 i

7FOUBR2005AIEE. 7HAJAB2AFIEE. TO2W19KEE
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C ETANAYIAL—aVINTA—E

[FoA2 1 BRBIFRM]

RE A2 e 1 |
dhuis R 3 770.144MHz
BRAZENAN 16.99dBm
ZEHN(REEESS) BARZXEFEHNT—RE
& B 288KkHz
EE7TTHHR(ERX) 2.14dBi
PoTFING—> AL=
ZERERIAX 0dB
E(EVRY 2ab—2a v TERTR VAT 7R EVA7RS R
7oTrE 1.5m

10dB
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C ETHNOSZaL—2a {EIMRETIVOHER

HRFEET VO HER
L iR ET VR HEA ~ d<40m
(FVAA7PRE [EZ] ZETSERZRIE) L=32.4 + 20log(f) + 10log[d>+(Hb-Hm)?10°]

40m = d <100m

—— BMHZM = Urban Suburban Rural L=0.04 + [log(d)-log(log0.04)] / [log(0.1)-10g(0.04)] *
160 [1.(0.1)-1.(0.04)]
140 d = 100m

Liyjppan=69.6 + 26.2log(f) - 13.82log(max{30, Hy}) +
[44.9 - 6.55log(max{30, Hp})](og(d)) - a(Hm) -
b(Hbp)

{8L.

a(Hm)=(1.1log(® - 0.7) min{10, Hm} - (1.56log(f) - 0.8)

+ max10,20log(Hm/10)}
a0V RBLAOMIIBETHEMIEXLEF N TEE b(Hb)=min{0, 20log(Hb/30)}

120

100

WEE[dB]
3

20 ‘\ ,l TRERIEBXOREEE—5 LSuburban_ LUrban 2{10g(f/28)}2 5.4
, Ligural = Lgpan - 4-78{log(f)}2+ 18.33log(f) - 40.94
0 100 200 300 400 500
S 1 8 A0 2 AR D B [m] L:RE[dB],, {:@iRMIMHz], d:EEE#[ km]

h1:XEWD7THEIm], h2: B ERD7TFHEIm],
Hpb:min(hl, h2), Hm:max(h1,h2)
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